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2022 (A) /7 [ / A

. SSC PART-l (9th CLASS) </

PHYSICS  GROUP-iI s - u,«:f U7
T!&ALLOWED:L% Hours SUBJECTIVE &2 145 = =
MAXIMUM MARKS: 48 48 = AF

NOTE: Write same question number -f.aﬂuct;_{.gir.ﬁz“é 6}:/:6:24:9:"&;’(}344(&1:? -y
and its part number on answer book, as given in the question paper.
SECTION-l (sl

2. Attempt any five parts. 10=2x5 _égf.:,glg.f.iméga,df ..2/-.’UF:~'
(1) Calculate how many seconds are there in one day? ?q.rz_ﬁiﬁgfﬂuu{l (i)
(i) Write two important parts of Vernier Callipers. B AT Y R ()
(iii) Why is the use of zero error necessary in a measuring instruments? ?‘au’uﬁu[g}w“lﬁﬂglsgidaﬁfg (iii)
(iv) How can vector quantities be represented graphically? ?g.tl?_br/;@c}(u(’;;lﬁ/uulﬁ/"{} (iv)
{v} Differentiate between rest and motion. d_L}-( ugJ}d.f u?f‘u#.:,a,x (v)
{vi} Define uniform acceleration. _é - /"'Ju"'.'-)’gfrxufg (vi)
(vii)  State the Law Of Conservation Of Momentum. _.:;’:uyuiwﬁu'/'fﬁ,}?r (vii)
(viii)  Define force and write its unit. o s A i
3. Attempt any five parts. - 10=2x5 -é{fbl,lxilz@&a_éf -3/-.‘.Ulr
(i) Why the height of vehicles is kept as low as possible? ?‘L&w@{ ﬂt?»ug'étj,rbfug% (i)
(i)  Define resultant vector. ST (i)
(i)  Explain, what is meant by gravitational field strength? eSS i
(v)  Whatis meant by global positioning system? e A Kb (W)
(v) With what force an apple weighing 1N attract the earth? ?c‘:,t:g'f’::..w}ﬂ- “i -« 1N u);(u)-..._{..g (v)
(vij  Define Joule. Iy Ae i)
(vii  What is mechanical energy and give one example. _q:d@_gj;qu..@fvf&}l < (vii)
(vii) How can you find the efficiency of a.system? s‘ugé,%ﬂv:_f .,:,TQJ?J;IJWJ (viii)
4. Attempt any five parts. . 10=2x5 L fezlinbie O 4ty
()  Why does a piece of stone sink in water but Sr R, i L AP L 2R 1177 S
a ship with a huge weight floats?
(i) ~ Whatis a barometer? S btnlFz (i)
(i)  Define Elasticity. SIBASE i
(v)  Differentiate between Temperature and Heat. LR ugJ}uI..wli»f,é/;} (iv)
(v)  What is meant by internal energy of a body? ?+)V£faﬁifd}5fl.5/()'u/ )
(vi)  Why does transfer of heat in fluids take place by convection? e St e PIendBit e i)
(vii)  Differentiate between Land breeze and Sea breeze. & uydﬁddﬁﬁsldzﬁ (vii)
(viii)  Define thermal conductivity. -éqﬁ&ﬂi‘ffﬁlﬁg (viii)
SECTION-II (22
NOTE: Attempt any two questions. 18=9x2 LY (ST S 12NV § G
5.(A) State Newton's second law of motion and 143 _gilebladUtngt 78 it b (N5

derive its equation.
(B) A cyclist completes 5 G aiedU ,q_r)’d{):y 1.5 s LA AL 318 S LL ()
half round of a circular track of radius 318m in 1.5 minutes. Find its speed and velocity.
6.(A)  Explain 1st and 2nd condition of equilibrium. 2+2 - :/yugu@}dfw;i&i&%dr{f (.6
5 _gEZpS AL - 4000N VTS QL S e dee b 2 amsT ] (D)

(B) A motor boat moves at a steady speed of 4ms™!. Water resistance acting on it is 4000N.

Calculate the power of its engine.

7.(A)  What is evaporation? 1+3 eIy S S eyt (DT
Explain the factors which affect the evaporation.
5 LA RO e 0.42N Wik 1L Fe 0.48N Ui & dleste (L)

(B)  The weight of a metal spoon in air is 0.48N. Its weight in water is 0.42N. Find ist density.
19-2022(A)-60000 (MULTAN)



PAPER CODE 2022 (A) . 3 A
i

NUMBER: 1472 SSC PART-I (9th CLASS)

PHYSICS  GROUP-I POy
TIME ALLOWED: 15 Minutes OBJECTIVE (&2 215 = =
MAXIMUM MARKS: 12 12= AF

/?,:‘_p;_;z:; v /':LJroJIJJ,:ah'?L:‘jWL;TJﬁo//JLu’: U'!,/’f,!.’-‘jé_ :&V&-p.ifﬂ{\_éﬁ@m _ufﬁfé_) D . C:B:-A .&L'ﬁ;@gl_dfs’/“ -
I vy B b»!uf(/éfg,ﬁ&!"d/d_j;/, ,{,‘L’/!: -gﬂJ!é'WAf'ﬁu!gu':;df’b(é_/i Sk L i.ﬁfu;ﬁuug;;_.h{i &5y
Note: you have four choices for each objective type question as A, B, C and D. The choice -q)ld’}f;_«,wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

a\:ﬁgﬁd in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER. 1 / Jfr

(1) Which one of the following is the smallest quantity? fe J;{;qudufc.ui J’ 3 (1)
(A) 0.01¢ (B) 2mg (C) 100ug (D) 5000ng

(2) Ameasuring cylinder is used to measure: -gt’lgk?)b"c.Jﬂ‘L? |3 (2)
(A) Mass U/l (B) Area ./ (C) Volume (s (D) Level of a liquid Je¥Chs”

(3) Atrain is moving at a speed of 36 Kmh ™ -diféfp(wui ms”™! ..c“_u@):v(/c;é;‘u( 36 Kmh™ Ak . (3)

lts speed expressed in  ms ™" is:

(A) 10ms™ (B) 20ms™ (C) 25ms™ (D) 30ms™
(4) Which of the following is the unit of momentum? _9&5_’{,’1?%&&5;;% (4)
(A) Nm (B) Kgms™ (C) Ns (D) Ns~'
(5) Aforce of 10N is making an angle Lroad P Qi 30° AL A - X 10 (5
of 30 with horizontal. Its horizontal component will be:
(A) 4N (BYS N €) 7N (D) 87N
(6) The orbital speed of a low orbit satellite is: -93@{&./@)@/& [ _»,J‘g’ (6)
(A) Zero (B) 8ms™ (C) 8000ms™' (D) 800ms™
(7) The altitude of geostationary orbits in ol andigdAJuf _@L)U‘:/@ U%“;Fﬁ'“c}:{:jioﬁaﬂd e (7)
which communication satellites are launched above the surface of the earth is:
(A) 42,300 Km (B) 6400 Km (C) 1000 Km (D) 850 Km
(8) The work done in lifting a brick of mass 2 Kg VLl g Bm e tie fE 2 (8)
through a height of 5m above ground will be:
(A) 2.5 J (B)10J (C) 50 J (D) 100 J
(9) What should be the approximate length of f'g:,g{}ﬁg’?;u.fég,ld;,:‘Jg”ALé_bﬂ%e’&g (9)
a glass tube to construct a water barometer? _
(A) 0.5m (B) 11 m (C) 2.5m (D)1 m
(10) Water freezes at e tbude A4S (10)
(A) 0°F (B) 32°F (C) =218K (D) 0K
(11) Which of the following materials has large specific heat? e Sl fgf (1)
(A) Water ¢ (B) lce iz (C) Copper (D) Mercury /7
(12) In gases, heat is mainly transferred by: u:.:‘:,...‘rb’.:-.«ﬂf&@l}ugjuﬁ / (12)

(A) Molecular collision #1567l (B) Conduction ¢*% () Convection % (D) Radiation ¢/S%,

19(0bj)( W )-2022(A)-60000 (MULTAN)



PAPER CODE 2022 (A) C/’l/ Ay
NUMBER_ 1474 SSC PART- (9th CLASS)

MBER:
PHYSICS  GROUP-I oo U
TIME ALLOWED: 15 Minutes OBJECTIVE (%o w215 = =
MAXIMUM MARKS: 12 12= Af

Ao o\ SN 2130 Qe neena s s Eosie WLy 38017 -t L4 D i C B A =Wzl iy LS
L2LA) f_oL;J/J/JquJLL/ }{) s ,fﬁ)r"wufiu ,bu:‘-'._ar"g,(gza P d_/,fu:/l;ubc.\.f s

Note: you have four choices for each objective type question as A, B, C and D. The choice -u’/ J"f = Uiy

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. /} [
A 2y

Q.No.1

(1) Ingases, heat is mainly transferred by:
(A) Molecular collision 1.7,

_:‘L...rrgoﬂ.?d Bl ol /_f

(B) Conduction f&( (C) Convection u:*:/ (D) Radiation ﬁ'ld,g;

(1)

(2) Which one of the following is the smallest quantity? ?q..J:{c, .,xﬂﬁ‘;jwé..uuj@» (2)
(A) 0.01¢ (B) 2mg (C) 100ug (D) 5000ng
(3) Ameasuring cylinder is used to measure: _c‘:_ftgkrr!"”c'_./ﬂ"u:ﬁ )
(A) Mass UL (B) Area L/1 (C) Volume i (D) Level of a liquid J¢Zlis”
(4) Atrain is moving at a speed of 36 Kmh'! _L}if&gg}/uru: ms” e el 36 Kmh™ AL (4)
Its speed expressed in ms™' is:
(A) 10ms™ (B) 20ms™' (C) 25ms™ (D) 30ms™
(5) Which of the following is the unit of momentum? -c{:.;fﬂf’?ﬁd_’i,gw (5)
(A) Nm (B) Komss (C) “Ns (D) N5~
(6) Aforce of 10N is making an angle e el 300 AL - X a0 @)
of 30 with horizontal. Its horizontal component will be:
(A) 4N (B) 5N (C) 7N (D) 8.7N
(7) The orbital speed of a low orbit satellite is: . RIS YT L&JT){.{ (7)
A) Zero (B) 8ms”' (C) 8000 ms™ (D) 800ms”'
(8) The altitude of geostationary orbits in ,¢df;.u' ay.lgu u'a._/\j;/; [}f““u"£ g UCONP-o' (8)
which communication satellites are launched above the surface of the earth is:
(A) 42,300 Km (B) 6400 Km (C) 1000 Km (D) 850 Km
(9) The work done in lifting a brick of mass 2 Kg _fﬂ.ﬁ:fywi.@é_fdﬂ(f 5m c:,ufj&..lugd/ﬂ/;g 2 (9
through a height of 5m above ground will be:
(A)2.5 (B) 10 J (C)50J (D) 100 J
(10) What should be the approximate length of ?gg_ksﬂd“ffjuﬂg{fvf Jéﬁf_ii_uﬂwg dg (10)
a glass tube to construct a water barometer?
(A) 0.5m (B) 11 m (C) 25m (D)1 m
(11) Water freezes at: et AASY ()
(A) 0°F (B) 32°F (C) 273K (D) 0K
(12) Which of the following materials has large specific heat? e J bbf;«o}.:uiful".;'gfn & quf (12)

(A) Water { (B) lce

(C) Copper ¥ (D) Mercury d)}

9(Obj)( 3 7)-2022(A)-60000 (MULTAN)



PAPER CODE 2022 (A) 9 A

NUMBER: 1476 SSC PART-I (9th CLASS)

PHYSICS  GROUPAI -l S
TIME ALLOWED: 15 Minutes OBJECTIVE (%2.» 15 = 2
MAXIMUM MARKS: 12 12= A

S g | Sdein 3o Qe l ipeene. b Ui Esi vl lrr pJ6017 - tLL 5D ) C B A epabl Ly S
PEIZ V] ?A_GL)JW/’(J[JHJJ""JLL/ :()ul ..@'D!‘Jbiiuifuj;u~uﬁ“’Jd_j¢ Jok L d__/,fu;/lml.xc.._f S
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u_’/ J’f/-._rwr
which you think is correct, fill that bubbie in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The work done in lifting a brick of mass 2 Kg S SVl S Bm e e i F 2 (1)
through a height of 5m above ground will be:
(A)2.5J (B)10J (C)50J (D) 100 J
(2) What should be the approximate length of ?‘«:.‘_yg.}yzdn/f)wéwu;df p@%ﬁL&}ﬁg(&g (2)
a glass tube to construct a water barometer?
(A) 0.5m (B) 11 m (C) 25m (D)1 m
(3) Water freezes at: -g,tlngz{/;-/fuz&g (3)
(A) 0°F (B) 32°F (C) 273K (D) 0K
(4) Which of the following materials has large specific heat? ?,;_J b K.eﬂ?ml/"uptf“ & quf (4)
(A) Water (| (B) lee i (C) Copper 4§ (D) Mercury (/7
(5) In gases, heat is mainly transferred/by: .,i‘¢'-_—-;"K:wJVJB“:'}uJLJL}f ,«f (5)
(A) Molecular collision 517/ (B) Gonduction'w”% (C) Convection o*%# (D) Radiation ¢21k.
(6) Which one of the following is the smallest quantity? ‘?‘ajf,”.:_ h,.wﬂ&wfc. ui’J” 1O0% (6)
(A) 0.01g (B) 2mg (C) 100ug (D) 5000 ng
(7) Ameasuring cylinder is used to measure: -‘L.t'l?.‘u/r}”‘r'_d:lﬂ?‘ L
(A) Mass (B)Area |/ (C) Volume ¢xls (D) Level of a quﬁid s’
(8) Atrain is moving at a speed of 36 Kmh', _djf,;.-;(fu“lu’: ms”! ,{_@J)L«L"c, ,g;d/ 36 Kmh™ o Akl (8)
Its speed expressed in ms™! is:
(A) 10ms™ (B) 20ms™ (C) 25ms™ (D) 30ms™
(9) Which of the following is the unit of momentum? N &g(ﬁi"}ufdjj.yp (9)
(A) Nm (B) Kgms™* (C) Ns (D) N5~
(10) Aforce of 10N is making an angle ALY ,ﬁ.&u,m 30° AL - X JALid 10 (10)
of 30“ with horizontal. Its horizontal component will be:
(A) 4N (B) 5N ) 7N (D) 87N
(1) The orbital speed of a low orbit satelite is: YA YA O 7 a0% ST
(A) Zero (B) 8ms™ (C) 8000ms™ (D) 800ms™
(12) The altitude of geostationary orbits in -i:_éﬁ:_df)i/dx%d/u! ..ugé'_/ﬁ);.:f o uﬁjx.{u’ Sy (12)
which communication satellites are launched above the surface of the earth is:
(A) 42,300 Km (B) 6400 Km (C) 1000 Km (D) 850 Km

9(0bj)( 3 3¢ ¥¢)-2022(A)-60000 (MULTAN)



PAPER CODE 2022 (A) @ Py

NUMBER: 1478 SSC PART-I (3th CLASS)

PHYSICS  GROUP-I ool U
TIME ALLOWED: 15 Minutes OBJECTIVE (%o w216 = &
MAXIMUM MARKS: 12 12= Af

Ao S b 3 b d e S u:/fJZ:._Jc‘_.Lf[_dlr//d (d'j’ J‘éc__) D . CB-A ._«U?zo;bidlff -y
424U -bég..bhuﬂ/:_,fu*uzﬁjd_/:/ }’uu) gﬂ))‘djﬁhu fu,&u"._u:‘d/L/C’ Jok L L-I,J(UJ/UMLJLJ £
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ xdd");uulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A /,}Jir‘

(1) What should be the approximate length of ?g;.lgdnﬁ)uléy&fr_’ Jé:“’;;'.ii.k«.}@;(&g (1)
a glass tube to construct a water barometer?
(A) 0.5m (B) 11 m (C) 25m (D)1 m
(2) Water freezes at: ~etlghdiy Z'-/:’u)dg (2)
(A) 0°F (B) 32°F (C) =273k D)oK
(3) Which of the following materials has large specific heat? ‘e Sobareiimii) 20f  (3)
(A) Water (B) Ice i (C) Copper ¥ (D) Mercury /7
(4) In gases, heat is mainly transferred by: ~r K A E s /-f (4)
(A) Molecular collision 5')%/"{?(. (B) Conduction u’( 4~ (C) Convection uigf (D) Radiation uﬁld},)
(5) Which one of the following is the smallest quantity? T;J){c..quwfauij §OW) (5)
(A) 0.01g (B) 2mg (€Y 100 pg (D) 5000ng
(6) Ameasuring cylinder is used to measure: -.f_.blgg{f:i”c:.jfdf:g )
(A) Mass (/L (B) Area |/ (C) Volume ¢ls (D) Level of a liquid s’
(7) Atrain is moving at a speed of 36 Km#h'' _Jﬂif; ST ms™! -,f.g%.r/:f’f?::.{g:d/ 36 Kmh™ ¢ /bl (7)
Its speed expressed in ms ™ is:
(A) 10ms™ (B) 20ms™ (C) 25ms™ (D) 30ms™
(8) Which of the following is the unit of momentum? WS (8)
(A) Nm (B) Kgms™ (C) Ns (D) Ns~'
(9) Aforce of 10N is making an angle dfﬂ_w;{@’.fwj;’w 4.@&,5% 30° g’v‘f./gi ~X ngJJ,s 10 (9
of 307 with horizontal. Its horizontal component will be:
(A) 4N (B) 5N (C) 7N (D) 87N
(10) The orbital speed of a low orbit satellite is: ¥ dn&rdl/ﬁf&_ﬁ LV:’LQJQ; (10)
A) Zero (B) 8ms™" (C) 8000ms™ (D) 800ms™
(11) The altitude of geostationary orbits in W‘L&ﬂawji’dAle -ugi_)ﬁﬁ)@ g u’«"g},&cﬁ:ufd (e (1)
which communication satellites are launched above the surface of the earth is:
(A) 42,300 Km (B) 6400 Km (C) 1000 Km (D) 850 Km
(12) The work done in lifing a brick of mass 2 Kg VLl FG S sm gt i F 2 (12)
through a height of 5m above ground will be:
(A)2.5J (B)10J (C)50J (D) 100 J

19(0bj)( 3 7€ I T )-2022(A)-60000 (MULTAN)



2022 (A).

/L);g) Yy

SSC PART-l (9th CLASS)

PH§SICS GROUP-I

TIME ALLOWED: 1.45 Hours

SUBJECTIVE _¥lL»

"- .—d)j
4145

MAXIMUM MARKS: 48

NOTE:

2. Attempt any five parts.

0]

(i)
(iif)
(iv)
v)

(vi)
(vii)

(viii)

3. Attempt any five parts.

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

4. Attempt any five parts.

()

NOTE: Attempt any two questions.

5.(A)

(B)

Write same question number

48

,.c.c.uu" Z..../Jl:",ri’c{ C;J:/"’;]J:l/‘{ dlr‘(ﬁuégdlf

and its part number on answer book, as given in the question paper.
SECTION-l Jil.o

10=2x5
Write any two main differences between mass and weight.
What is meant by prefixes? Give two examples.

Differentiate between Atomic Physics and Plasma Physics.
Define friction and give its S| unit.

Define gravitational acceleration.

Write down its value on the surface of earth.

Define centripetal force. Write down its formula.

Write down the names of any two instruments for

measuring length.

Define velocity and write down its S| unit,

10=2x5
Define Rigid Body and Moment Arm.

Why the height of vehicles is kept as low as possibie?

Define Force of Gravitation and give two examples.

How can you say that gravitational force is a field force?

What is meant by geostationary orbit?

Define Potential Energy and describe its two-types:

Differentiate between Mechanical Energy and Chemical Energy.

Define Efficiency and write its equation in percentage.
10=2x5
Define Density and write its S| unit.

What is Hydrometer and write its uses.

Why is heat transferred from a hot body to cold body?

What is meant by clinical thermometer? Write its range.
Define the specific heat of a substance write its formula.

What causes a glider to remain in air?

Differentiate between Land and.Sea Breezes.

Define Radiation.

"a‘..U/JL, I (u’J éu!/’(ﬁf

v

O]
AF

-y

Efe 2l 8 24

4(1 d/uilﬂ’u::_.d[u" il sl
B sy "-'L)/'erc-/ﬁd/
~E AL A FA
_ oy Si6UmgE o J5
H/Id'%.u

e -(iqfﬁugu” IS s

_#EZQUTJJEJ;LIJLﬁJb;'_iLJjSJ{j?"

_ﬁq.:f'z Sl B/Jbslé._éﬁg;&ﬂ}

(i)
(i)
(iii)
(iv)
v)

(vi)
{vii)

(viii)

E fe Lkl 8 30y

=) f_v/jJr‘J Tyl L des
“c_dvu; U f.mu‘a'dwdum”
-JJJV:JJJIJ/J/UJ’JJ’/‘; fuu’
S LI S E S AT

el o0 T 20
_J/ubrﬁ!-;Jlef_rJﬁJd)tﬁ

A N AR VAT S IS
eSSl S P u" &

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

Efe v lingie S 4Ly

u"{.«ri St slJ# ._n’/‘U/LE'J:

u‘”g._«!JL*VILJ ) C_U//‘/JJ) {
o ufvp:'uf/ P () 7 f) r/
L}"GC/JJI ('c.)/brc:./f/ﬂ
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SECTION-Il 9.2

State and explain Law of Conservation of Momentum.

18=9x2
1+3

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

_él/ f‘::a Yzl e Uir’»r_"..é:( Y

é..)lmu; éubu:’b G'J":J/(Lfky"

Ser g V536 100 o 3/ i it 1 100 m’L-d_J/l’Cva!., IV S N ORI

A train starts from rest. It moves through 1 km in 100 s with uniform acceleration. 5

What will be its speed at the end of 100 s?
How will you determine Mass of the Earth? Explain.

3+1

tdnlir

_;_,"IJL-UJ..QJ/LL:A_J?WJLKJJ

(IN.5
(i)

(-6

5 bl e KEBON o 16 om RLASSEFL S (L)

The steering of a car has a radius 16cm. Find the torque produced by a couple of 50 N.

What is meant by Volume Thermal Expansion? 1+3
Derive its equation.

i o i 2.55gem™

_q;ﬁfg«h L»J‘L,( 1

A cube of glass of 5cm side and mass 306g, has a cavity inside it. If the density of glass is 2.559c:m‘3.

Find the volume of the cavity.
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NUMBER: 1471 SSC PART-I (9th CLASS)

PHYSICS GROUP- W - o U
TIME ALLOWED: 15 Minutes OBJECTIVE g:?/”,ﬂ? w15 = o
MAXIMUM MARKS: 12 2= /f

Ao \ S350l g e Jt L s Ll 38017 - L L D s C B A VRl S
{24V s %g;uf%d!@fgjﬂ{ﬁ,/:;zé :{J:ﬁ; _S/Jﬁu""wu._.«lﬁu:&u:uwr‘d/i./q Sk L L/C’:Jru:ﬂ}u&)c,ug S
Note: you have four choices for each objective type question as A, B, C and D. The choice _Q/C:J’ )Q.:»Ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /,Uir

(1) Which one of the following is the smallest quantity? ?c‘;_.é:{c._'mlﬁfdufc_wj Skt (1)
(A)0.01 g (8)2mg (©) 100 g (D) 5000 ng

(2) Which of the following is a vector quantity? 8 }.(ul,ﬁ'dc)fc, Lﬁp‘j;‘gw (2)
(A) Speed 4y (B) Distance Jwb (C) Power s} (D) Displacement _w‘fhvu“i

(3) Formula of acceleration is: _+Uy,GK°?3kgl (3)
") a=-—" Bla=Lrt  (©a=Z (D) a=7

(4) Which of the following is the unit of momentum? -%JgK(‘*"/n:, VT (4)
(A) Ns (B) Kegms™ (C) Nm (D) ns7!

(5) Two equal but unlike parallel forces having ,;_}_?J/i,g e ilf UTJJJK&W:"JJI[?JUUFU?JJL»» (5)

different line of action produce:
. F — N !( . I 3.2
(A) ATorque oy (B) A couple S (C).Equilibrium (2% 1 (D) Neutral equilibrium ﬁj{j,- I

(6) Law of gravitation is: _{_u}b'{u?d:jf (6)
Gmm G Me Gmm mm
A P12 B) F= Gl Fes 02 D) F="0"2
(A) F = (B) FE (C) p (D) =
(7) One horse power is equal to: ung;.{&ﬂ.%uagb.g (7)
(A) 748 W (B) 746 W (C) 748 W (D) 745 W
(8) The energy stored in coal is: d‘:;gijln,«fw:“"juf,t’f (8)
(A) Heat energy ($./le;  (B) Kinetic energy (. J,;JK (C) Chemical energy d)lg}i,‘f (D) Nuclear energy (§5./1~%
(9) The density of a substance can be found with the help of: d.fl__d*“ W}J”cugf J’“}”Jd_of (9)
(A) Archimedes principle  Jy1Zas! (B) Hooke's law ¢/#6Lf
(C) Pascal's law uﬁl&'eﬁu{’g (D) Principle of floatation 1L d_7
(10) The coefficients of linear expansion and ,gigg&u;ug FPrasdZs Muﬁrz'lmf AW iuEde (10)
volume expansion are related by equation:
_ o
) f== (B) B =2a (C) B =3« (D) & = 4P
(11)  Which of the following affects evaporation? %Jﬁt‘»fﬁuﬂh? L—‘Uf::-ufuj (1)
(A) Temperature f;:' (B) Surface area of the liquid ’_u;ib’é/u( v (C)Wind I (D)All these Jlfr(,?g
(12) In solids heat is transferred by: -;.,Tg}’b’mlidlﬁ?lwrwuﬁg (12)
(A) Radiation gffidéz (B) Conduction u’( &~ (C) Convection u“(/ (D) Absorption 'ﬂ;l'f.l
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PAPER CODE 2022 (A)
NUMBER: 1473 SSC PART-! (9th CLASS) —

| — 4
PHYSICS GROUP-| b o o) S
TIME ALLOWED: 15 Minutes OBJECTIVE (%2 o215 = oy

MAXIMUM MARKS: 12 12= /J
S i | 30l iz eone b U s b v 3687 < £E 5D i C B A Mzl L
{241 K blsy /Q[J._, r".,,.._./ }C)J/U .,E’ﬂ,r)“'lzl-f_,lfa.rﬁd’uﬂ"ua.// Jak ¢ g./”,!/u;/ basl ekl <55
Note: you have four choices for each objective type question as A, B, C and D. The choice -(_[/ J’/’},’uﬂlr’
which you think is correct, fill that bubble in front of that question number, on bubblie sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1

o1 /-,‘U!r

(1) The coefficients of linear expansion and R P, K_wd’ WEshs b e Qs Sy (1)
volume expansion are related by equation:
® p== B B =2 © B =3 (D) o =4
(2) Which of the following affects evaporation? ?‘Lt'/(/at'f:{ﬁﬂ_f-ﬂﬁfbd:(a- BT (2)
(A) Temperature é/ (B) Surface area of the liquid L;IKi/J dl-l. (C)Wind I» (D) All these JD?L?,
(3) In solids heat is transferred by: < I EIS I (3)
(A) Radiation »ﬂld@ {B) Conduction J‘C‘J (C) Convection L-)ig!f (D) Absorption ‘ﬁﬂz!
(4) Which one of the following is the smallest quantity? ?‘c.é;{c_,wwgufa,ufdfi;}ﬁ (4)
(A)0.01g (B) 2 mg (C) 100 ug (D) 5000 ng
(5) Which of the foilowing is a vector quantity? fe }..J'/ulﬁdd/c;.uﬁfd_" Py (5)
(A) Speed i (B) Distance (C) Power 14 (D) Displacement wo~%_s3
(6) Formula of acceleration is: 3 Uf;ﬁ(u’i)’gi (6)
) V, =V L v
(A a=21"Y B) a=-1 ©) a=- 0) a=-
t t " t
(7) Which of the following is the unit of momentum? -9&{(,@; JJ_;',?JJC«- (7)
(A) Ns (B) Kgms™ (C) Nm (D) Ns™
(8) Two equal but unlike parallel forces having -q_?dﬁ,g m.ﬂﬂuTJWQKWU;.-JUW?J,L»” (8)
different line of action produce:
(A)ATorque ot  (B)Acouple ok (C) Equilibrium @;;5,! | (D) Neutral equilibrium (/¢ 1 ¢
(9) Law of gravitation is: -ﬁ:-dﬁl?gﬁdif (9
G m,m G Me Gmm m,m
A F=—=>2 B) F=—n- Gl P ottt 5 P I L 3
(A) 5 (B) Fr ) d (D) =
(10) One horse power is equal to: _94!4£;:guvgbg (10)
(A) 748 W (B) 746 W (C) 749 W (D) 745 W
(11) The energy stored in coal is; ,c.&)laﬁﬁju“,ff (11)

(A) Heat energy J./ler  (B) Kinetic energy Sy (C)

(12) The density of a substance can be found with the help of;

(A) Archimedes principle I
(C) Pascal's law 76

Chemical energy (/1 f" (D) Nuclear energy & /l/gr

..c‘...gjclpdr}b"c.uu ¥ )ud..uj

(B) Hooke's law ¢/ #6L
(D) Principle of floatation dr”lé.«.’_ Z
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PAPER CODE 2022 (A) ( \@9) Ay

NUMBER: 1475 ‘ SSC PART-l (9th CLASS)

PHYSICS GROUP- - oS
TIME ALLOWED: 15 Minutes OBJECTIVE Q:‘S/”,-v 2415 = by
MAXIMUM MARKS: 12 12= AF

P o | /’:Ljrnjfbﬁl;"&ib‘&vfﬁ:.‘/ﬂ;u’: uﬁl}zc_’;u&.bﬁdlrﬁ{é{élﬁ -uj’éié.) D . CBA :«Elﬁ;v@lgﬁdb‘x -y
{_;J__j,_}lru‘[ i{ng_{:Juf}iz&y(uﬁajfd/L/’;é J(J:J;b _gmr"rhlﬁ.,«fﬁuﬂu‘f.:«xﬁdfi_/f; FiTs [} :’_.f/ifw.?l)uy}r_.g P
Note: you have four choices for each objective type question as A, B, C and D. The choice _L,{)f:d"}'j,-;-wy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Formula of acceleration is: ,;;._Llnti(ﬁ)’"(l (1)
T YN . ..
(A) a= z (B) a= e (C) a= ; D) a ;
(2) Which of the following is the unit of momentum? ity Kﬁyfauf Sizer  (2)
(A) Ns (B) Kgms™ (C) Nm (D) Ns™
(3) Two equal but unlike parallel forces having _gjgd/l,y, J’th;f{ UTJJJKUZWUI/,;JUUIJ? Uey  (3)

different line of action produce:
(A) ATorque o/ (B) A couple J’( (C) Equilibrium ﬁ/d =1 (D) Neutral equilibrium r{/'lf:g |

(4) Law of gravitation is: ULl Kﬁdgf (4)
W F =20 B F -5 @ r=Spm o) p-T

(5) One horse power is equal to; <Ll (5)
(A) 748 W (B) 746 W (C) 749 W (D) 745 W

(6) The energy stored in coal is: -9&)1045»/?5%4’:( (6)

(A) Heat energy (/e (B) Kinetic energy 6./'1..@[5{ (C) Chemical energy L}’./'U?f (D) Nuclear energy (ﬁ)ﬁ/’-ﬁé

(7) The density of a substance can be found with the help of: ..LL.(:fﬁ {gJH)"LuJ o J’.‘iu" 2’.0’( (7)
(A) Archimedes principle J#1L x (B) Hooke's law ¢/96Lof
(C) Pascal's law uil?f,uﬁ (D) Principle of floatation 12 7

(8) The coefficients of linear expansion and e bblfy Ut eat il s WAL el 2 WSS (8)

volume expansion are related by equation:

®B=7 B) B =2 ©) B =3 (D) o = 4p

(9) Which of the following affects evaporation? ‘e b F ez iyl (9)
(A) Temperature Zu/;’ (B) Surface area of the liquid |// b/é/d/ Czl. (C)Wind l# (D)Allthese f Wl

(10) In solids heat is transferred by: el )KMI/’U@U?(L»?UJ (10)
(A) Radiation fflw}’.) (B) Conduction Jaf pif (C) Convection Q’ig:'f (D) Absorption uf’ul'f.f

(11) Which one of the following is the smallest quantity? ?‘LJ y"l’:c__'.wlﬁfdc)!(d. - ufiﬂmw (11)
(A) 0.01 g (B) 2 mg (€) 100pg (D) 5000 ng

(12) Which of the following is a vector quantity? ?é.}fulﬁ;}’u/c;wd_igw (12)
(A) Speed i (B) Distance < (C) Power sk (D) Displacement e

17(0bj)(7¢ 7 37)-2022(A)-70000 (MULTAN)
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NUMBER' 1477 SSC PART-l (9th CLASS)

PHYSICS _GROUPA b - oS U
TIME ALLOWED: 15 Minutes OBJECTIVE (%2 w15 = &y
MAXIMUM MARKS: 12 12= Af

e B /CL!(B}IJMJ&’L?U?MJ):‘_-U: u;ilﬁaféjéi,hri;,]lf/;aéﬂé'ﬁ -u_:af.f;.) D ./ C:B:A a&fﬁ;ﬁgﬁdlfﬁ b
/?,.__g{.jlru"f ‘.b"?_l?.l,:u.f‘/}:‘;é):;’:a)fg(é'_./g,é ,J:,'J.f'b -fﬁj}“;hl&'u.:,lﬁuﬁ’:ﬂdajﬂg( L/'}: oK L d._):’::(uﬂ'be)_l;jc.».g sy
Note: you have four choices for each objective type question as A, B, C and D. The choice _V;/’::J’}'}.:,ury
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Two equal but unlike parallel forces having Uy B ST e e (1)
different line of action produce: ,
(WATorque Ot (B)Acouple Jf  (C) Equibrium £ASE1 (D) Neutral equilirium A5k 1

(2) Law of gravitation is: -;.uﬁﬁ'(ﬁtig// (2)
W F =20 @r-2t rgmm g p=mm

(3) One horse power is equal to: ,;_.f.lx.i»l;u‘;y :I (3)
(A) 748 W (B) 746 W (C) 749 W (D) 745 W

(4) The energy stored in coal is: -gj.f'faﬁaj':‘u.f,ff (4)

(A) Heat energy (J./le.;  (B) Kinetic energy 5./ .J?vd( (C) Chemical energy @)JJ../{ (D) Nuclear energy 6.}1/".‘56

(5) The density of a substance can be foundwith-the help of _‘r&c ngrsL‘”c.uJ . C“"giu’/iu’( (5)
(A) Archimedes principle Js1Z a4l (B)-Hooke's law ‘w96L
(C) Pascal's law uib‘&fi; (D) Principle of floatation (1L J_ 7

(6) The coefficients of linear expansion and -‘Lt'l_v%@ u;fJLJ (Md’ fféi&{gﬁp:’lmi wﬁd’ W3 W (6)

volume expansion are related by equation:

W B=% B) B =2 €) B =3 (D) o = 4p

(7) Which of the following affects evaporation? ' 2. b/ ﬁl:w/ﬁu?:glszwfa.ﬁul (7)
(A) Temperature fy;/ (B) Surface arez of the liquid L;IKi/u'/éL (C)Wind ix (D)All these Jlflrﬁ,:

(8) In solids heat is transferred by: e /"K:,Jffgﬁ?luirwgﬁ (8)
(A) Radiation ¢/#I54 (B) Conduction uy 4 (C) Convection % (D) Absorption ¢/l

(9) Which one of the following is the smallest quantity? ‘.‘f_é:?;.’c,u_mwguf;.uﬁdjgzﬂ (9)
(A)0.01 g (B) 2 mg ~(C) 100pg (D) 5000 ng

(10) Which of the following is a vector quantity? ?%}thﬁdufc. ui’J_.’:',.yp (10)
(A) Speed i (B) Distance .t (C) Power s\ (D) Displacement w3

(11) Formula of acceleration is: -f_mwﬁf"gf (11)
® a=2" Ba="3-  (©a=""2  (a=l

t '3 ¢ t

(12) Which of the following is the unit of momentum? .x“_:r';_’g(?!"cu-fdjgjﬂ (12)

(A) Ns (B) Kgms™ (C) Nm (D) wns™
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